
Volba mezi předpřítomným časem prostým a průběhovým. 
Zakroužkujte správnou variantu.
a)  How many people have applied / have been applying for the position?
b)  Mummy, my balloon has burst / has been bursting.
c)  The wind has blown / has been blowing like this since yesterday evening.
d)  Ouch! I’ve cut / I’ve been cutting my finger.

Choosing between present perfect simple and continuous. Circle the 
correct option.
a)  How many people have applied for the position?
b)  Mummy, my balloon has burst.
c)  The wind has been blowing like this since yesterday evening.
d)  Ouch! I’ve cut my finger.


